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AT o IIFEHL T, ROMVICEA L. (SHk1, A2 208, Bfkasy, C#74y)

(1) AD=2 DC=6ThH5sLZ,
AB O X%k k.

(3 BD=8 DC=4ThHst¥,
AB ORI %RD L.

A

(2) AD=6,DC=4ThH5sLZ,
AB DRI ZKd K.

A

(4) AB=9, BC=6Th5sLtZE,
BD ORI z2K® X,

A
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2.

EHMET o ITHEHLT, XKOMWIZEZ L. (SHh175108, Afk2540%, Bik54r, C#84)

AD=3,DC=5Th5 X, (2) AB=12, AD=9 Th 3 Lt ¥,
AB O X%k k. DC OEZ %k k.
A A
D
D
)
[)
BD=5 DC=20Ch3LtZ, (4) AD=5 BC=6Th2LtE,
AB DEZZRd k. DB DEZZRd k.
A
A
D
B D C B C
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REFZAN @AOES ZAROME Vo< DEL 02 RERD

1. HAGS ¢ ICHEHLT, XOMWICEZ X, (SHk14r, Af24520%, B#k4s5r, C#745)

A
* 0> < DRLODMEME AB? = AC x AD
AABD «» AACB 2 A (ZA HE o ZABD = ZACB)
. AB:AD=AC:AB & AB?>=AC-AD
B C KT REDEHIZZNDIGHATH 5.
(1) AD=2,DC=6Th2t¥, (2) AD=6,DC=4ThH2L¥,
AB DX %k k. AB DR %ko k.
A A
D
D
[
B C B C

AB=z t33%%, AABD» AACB kb,

x:2=(24+6):2 = z==4 AB:AD=AC:AB

r>0kh, z=4 -EX z:6=(6+4):2 = o==2/15
z>04&bD, z=2V15 BZX

(3 BD=8 DC=4ThHst¥, (4) AB=9, BC=6Th53LtZ,

AB ORI %R L. BD 3%k k.

A A

[ )

D
[ ]
B D C
B C

AB=2z £92%¢&, ABAD» ABCA kD,

BA : BD = BC: BA BD=z 292, ABCD» ABAC kb,
:8=(+d)iz S o=V BC:BD = BA : BC
.’E>0ckb, .1':4\/6 TCEA 6:2=9:6 = r=4 ...gi
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HAEHE o ICHHL T, ROMWIZEZ X.

(1) AD=3,DC=5Thst¥,
AB DEZ %k X.

A

AB=z 93¢, AABD» AACB &b,
AB: AD =AC: AB

r:3=0B+5):x = z=+2V6

r>0&b, z=2V6 EZ

(3) BD=5 DC=20Th3LE,
AB ODE I %R X.

A

AB=z 93¢, ABAD» ABCA kb,
BA : BD = BC: BA

r:5=(5+20):z = z=45/5

r>04%D, 2=5V5 &Z
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10/, Afh24340%, B#545r, C#84)

(2) AB=12, AD=9 Th 3 Lt ¥,
DC DEZZRD k.

A

DC=x &§5%&, AABD» AACB kD,
AB: AD=AC:AB
12:9=09+2):12 = z2=7 -&X

(4 AD=5 BC=6Th2Lx,
DB oEI%ZRKD &.
A

DB=z £95%&, ABCD» ABAC &b,
BC:BD =BA : BC

6:x=(x+5):6

22 4+52x—-36=0

(z4+9)(z—4)=0

r=-9 XX z=4

z>0&bD, xz=4 -&FZ
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